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Description of Appendices

All Appendices
The distribution used to simulate the data is given in the main heading of each page. The
abbreviated simulation distribution is also given in the title of each separate plot along with
the mean u of the distribution in parenthesis. The columns across the page either represent
1/ different analyses methods with which the data are analysed, or 2/ different means u for
which results are displayed. In the first case the abbreviated analysis method is also given in
the title of each plot after the line (-) symbol. The abbreviations are as follows:

LN analyses after a Log transformation (1 added to the data before transformation)

SQ analyses after a Squared Root transformation

OP Overdispersed Poisson (used for simulation and analyses)

NB Negative Binomial (used for simulation and analyses)

P1  Power model with p=1.5 in the variance function (used for simulation and analyses)

P2  Power model with p=1.7 in the variance function (used for analysis only)

GM analysis with a Gamma distribution (0.001 added to the data)

PL Poisson-LogNormal distribution (used for simulating data only)
So for example the title “OP(0.5) - LN” denotes that the data are simulated with an
Overdispersed Poisson distribution with mean p¢=0.5 and are analysed after a Logarithmic
transformation of the data.
The five separate small plots along the y-axis display results for five different values of the
coefficient of variation (CV) of the simulation distribution. Note that these five CV values are
different for different values of the mean u. In some plots the real CV values are given, in
others they are coded by CV-1 (small) to CV-5 (large). Results in each plot are for the 10
different replication levels 4, 6, 8, 10, 15, 20, 30, 40, 60 and 100 which are given along the
x-axis of each small plot.

Appendix 1 A —D: Size of difference test: scaling by the mean deviance or by Pearson
Displays the simulated size (i.e. significance level) of the difference test with «=0.05 when
the test statistic (i.e. the deviance difference) is scaled by the mean deviance or Pearson’s
statistic of the full model. The two scaling’s are denoted by respectively “dev” and “pear” in
the heading of each plot. Each small plot has a range of 0 to 0.1 along the y-axis. The green
line is halfway each small plot and denotes the assumed significance level @=0.05. Red lines
are drawn at values 0.033 and 0.067, and these provide a range which could be expected when
1000 datasets are simulated. So simulated sizes within the red lines are OK; such values are
depicted by open circles. Values outside this range are denoted by filled circles, while values
larger than 0.096 are given by triangles.

Appendix 1 E — H: Size of difference test: comparison different analysis methods

Displays the simulated size of the difference test with «=0.05 for seven different analysis
methods. For the analysis models OP, P1, P2 and GM the test statistic (i.e. the deviance
difference) is scaled by Pearson’s statistic. Each small plot has a range of 0 to 0.1 along the y-
axis. The green line is halfway each small plot and denotes the assumed significance level
«=0.05. Red lines are drawn at values 0.033 and 0.067, and these provide a range which could



be expected when 1000 datasets are simulated. So simulated sizes within the red lines are OK;
such values are depicted by open circles. Values outside this range are denoted by filled
circles, while values larger than 0.096 are given by triangles.

Appendix 1 I — L: Power of difference test: comparison of different analysis methods
Displays the power of the difference test for an effect size of Q=0.75 (black dots and line),
@=0.5 (red dots and line) and Q=0.25 (green dots and line). For the analysis models OP, P1,
P2 and GM the test statistic (i.e. the deviance difference) is scaled by Pearson’s statistic. Each
small plot has a range of 0 to 1 along the y-axis. The grey horizontal lines denote power
values of 0.25, 0.50 and 0.75. Values for progressive tests, i.e. when the simulated size as
given in the corresponding Appendix 1 E-H is larger than the upper limit of 0.067, are not
displayed.

Appendix 1 M - P: One minus Coverage Probability of confidence intervals

Displays one minus the coverage probability of 95% confidence intervals after an LN, SQ,
Op, NB, P1 and GM analysis. The LN and SQ intervals are generalized confidence intervals
constructed by simulation. The other confidence intervals are based on the parameter estimate
for the ration of the two means and its standard error. Each small plot has a range of 0 to 0.1
along the y-axis. The green line is halfway each small plot and denotes the assumed a=0.05.
The red lines denote values 0.033 and 0.067 which provide a range that could be expected
when 1000 datasets are simulated. So simulated sizes within the red lines are OK; such values
are denoted by open circles. Values outside this range are denoted by filled circles, while
values larger than 0.096 are given by triangles. The latter values indicate that the interval has
a larger coverage probability than 5%

Appendix 1 Q — T: Power of LN difference test using the method of Lyles et al

Displays the power of the LN difference test for an effect size of 9=0.75 (black dots and line),
Q=0.5 (red dots and line) and Q=0.25 (green dots and line). The dots denote the simulated
power, employing 1000 datasets, and the lines are generated by means of the method of Lyles
et al which used a single synthetic dataset. Each small plot has a range of 0 to 1 along the
y-axis. The grey horizontal lines denote power values of 0.25, 0.50 and 0.75. Simulated
powers for progressive tests, i.e. when the simulated size as given in the corresponding
Appendix 1 E-H is larger than the upper limit of 0.067, are not displayed.

Appendix 2 A - D: Size of one-sided equivalence test

Displays the size of the one-sided equivalence test with «=0.05 for a limit of concern L which
is equal to the effect size Q=0.75, Q=0.5 and Q=0.25. Each small plot has a range of 0 to 0.1
along the y-axis. The green line is halfway each small plot and denotes the assumed a=0.05.
The red lines denote values 0.033 and 0.067 which provide a range that could be expected
when 1000 datasets are simulated. So simulated sizes within the red lines are OK; such values
are depicted by open circles. Values outside this range are denoted by filled circles, while
values larger than 0.096 are given by triangles.



Appendix 2 E — H: Power of one-sided equivalence test

Displays the power of the one-sided equivalence test for a hypothetical limit of concern of
L=0.5 and a=0.05 for effect sizes Q=1, Q=0.75, ¢=0.5 and @=0.25 as given in the mean
heading of each page. Each small plot has a range of 0 to 1 along the y-axis. The red
horizontal lines denote power values of 0.25, 0.50 and 0.75. The dark grey area under the
black dots denotes the simulated probability of rejecting the null-hypothesis of non-
equivalence, i.e. the probability of concluding that the GMO and the comparator are
equivalent. The grey area under the red dots denotes the probability of concluding
“equivalence more likely than not”. The light-grey area under the green dots denotes the
probability that the GMO and the comparator samples only consists of zeroes. This can also
be viewed as “equivalence more likely than not”.

Appendix 2 1 —L: Power of OP equivalence test using the method of Lyles et al

Displays the power of the OP one-sided equivalence test, with «=0.05, for effect sizes Q=1,
Q=0.75, 9=0.5 and Q=0.25 as given in the mean heading of each page. Limits of concern are
L=0.75 (black dots and lines), L=0.5 (red dots and lines), L=0.25 (green dots and lines) and
L=0.1 (blue dots and lines). The dots denote the simulated power, employing 1000 datasets,
and the lines are generated by means of the method of Lyles et al which used a single
synthetic dataset. Each small plot has a range of 0 to 1 along the y-axis. The grey horizontal
lines denote power values of 0.25, 0.50 and 0.75.



Appendix 1 A1: Size of difference test for Overdispersed Poisson
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Appendix 1 A2: Size of difference test for Overdispersed Poisson
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Appendix 1 A3: Size of difference test for Overdispersed Poisson
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Appendix 1 A4: Size of difference test for Overdispersed Poisson
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Appendix 1 B1: Size of difference test for Negative Binomial
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Appendix 1 B2: Size of difference test for Negative Binomial
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Appendix 1 B3: Size of difference test for Negative Binomial
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Appendix 1 B4: Size of difference test for Negative Binomial
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Appendix 1 C1: Size of difference test for Poisson-LogNormal
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Appendix 1 C2: Size of difference test for Poisson-LogNormal
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Appendix 1 C3: Size of difference test for Poisson-LogNormal
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Appendix 1 C4: Size of difference test for Poisson-LogNormal
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Appendix 1 D1: Size of difference test for Power(1.5)
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Appendix 1 D2: Size of difference test for Power(1.5)
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Appendix 1 D3: Size of difference test for Power(1.5)
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Appendix 1 D4: Size of difference test for Power(1.5)
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Appendix 1 E1: Size of difference test for Overdispersed Poisson
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Appendix 1 E2: Size of difference test for Overdispersed Poisson
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Appendix 1 E3: Size of difference test for Overdispersed Poisson
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Appendix 1 F1: Size of difference test for Negative Binomial
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Appendix 1 F2: Size of difference test for Negative Binomial
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Appendix 1 F3: Size of difference test for Negative Binomial
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Appendix 1 G1: Size of difference test for Poisson-LogNormal
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Appendix 1 G2: Size of difference test for Poisson-LogNormal
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Appendix 1 G3: Size of difference test for Poisson-LogNormal
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Appendix 1 G4: Size of difference test for Poisson-LogNormal
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Appendix 1 H1: Size of difference test for Power(1.5)
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Appendix 1 H2: Size of difference test for Power(1.5)
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Appendix 1 H3: Size of difference test for Power(1.5)
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Appendix 1 H4: Size of difference test for Power(1.5)
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Appendix 1 [1: Power of difference test for Overdispersed Poisson
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Appendix 1 12: Power of difference test for Overdispersed Poisson
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Appendix 1 13: Power of difference test for Overdispersed Poisson
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Appendix 1 14: Power of difference test for Overdispersed Poisson
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Appendix 1 J1: Power of difference test for Negative Binomial
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Appendix 1 J2: Power of difference test for Negative Binomial
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Appendix 1 J3: Power of difference test for Negative Binomial
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Appendix 1 J4: Power of difference test for Negative Binomial
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Appendix 1 K1: Power of difference test for Poisson-LogNormal
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Appendix 1 K2:

Power of difference test for Poisson-LogNormal
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Appendix 1 K3: Power of difference test for Poisson-LogNormal
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Appendix 1 K4:

PL(50) - LN
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Power of difference test for Poisson-LogNormal

PL(50) - OP

PL(50) - NB

PL(50) - P1

PL(50) - P2

PL(50) - GM

L RAEED. a4

. i

‘/,-' i
.-"/

——r
) 4 ﬂ}

I aBEy o8
P’

L
-

Cad
Iy

ek
- Fy

o ',-'
CV=75 - 4
£ A
o :’._.’.J
AN o /’)l
=50 4 17
CV=50 "
| g
f, /
CV=40 - 5 /
=4
KAl
CV=30 - - /
./.,r' F 3 3
CV=20 -/ -/ -/
rrrrrrrnrney rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
PL(100)-LN  PL{100)-SQ PL(100)-OP  PL(100)-NB  PL(100)-P1  PL(100)-P2  PL(100)- GM
."/',ﬁ .',-.-,v* ).-",.-- [ r. aii [ ‘{rr' R ../l"‘
’/ /.f /.;’ / If’ / /r
CV=50 4/ 1/ 4, 4/ 4/ 4
¥ ad | ™ | | Y ad Y
A EALA BT AU EAL AN B4 A AT A
cveo W 1/ 1/ / 4 / 1% / 1% /
e e e e e 4
- — —~ Fad — -
oend /T A | siviins | Pt |
ol . . / / /
| L i | L
) Bty By B 7
Cv=20 1 1/ - - - 1/
i e i
CV=15 < - - - - -
rrrrrrrnrney rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny rrrrrrrnrny
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
Replication Replication Replication Replication Replication Replication Replication

50



Appendix 1 L1: Power of difference test for Power(1.5)
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Appendix 1 L2: Power of difference test for Power(1.5)
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Appendix 1 L3: Power of difference test for Power(1.5)
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Appendix 1 M1: Coverage of LN interval for Overdispersed Poisson
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Appendix 1 M2: Coverage of LN interval for Overdispersed Poisson

OP(0.5) Q=0.50 OP(1) Q=050 OP(2)Q=0.50 OP(5)Q=0.50 OP(10)Q=0.50 OP({20)Q=0.50 OP{50)Q=0.50 OP(100)Q=0.50

r| Py | [y ]| Y| rzy Yy B LYY Y|
é . ¢ Lk *ee
: s . é ] oo, * u.
CV-5 - 000 ° o b )
IEEEFY-TREE By EEEELIREE ISRRESEE| Y | OPoiiiii: ol Y (SERSERSEE By SEREREEEE N (SEERREEEE
[}
ee® o * lo
-
"~ | Py | [y | pyYYYY | ryyy’| FYYY|
[ ] o
o, . ® gk ) LL) L 1Y
& &
CV-4 e 29 i bihiad Piii% P ® i 19
i A FESEERER: Pooio:? ENERERER eSRRRRERN ?
™ [ ]
(1 L]
1 e r
.ﬂ | a.ﬂ FYYYY' ..l.l.n Fy'|
o ] .
. . . H SRR L1 .. i OU’.
0
I SERFSRE e} EEFREREE D ot .o LOT: o L EREER R o
CV-3 OOOD - QO - DODOO 5 S ) G2l - - R - .
sreataie e 11t 1y 1
.
o
F | ryy| FYYLY| | |
- . -
d | Y - u.. ou. O. 'y
o0 e DODD & aPo DDO T O o o [o R =]
CV-2 4 e e 4, 0790 e giidd Jooriiiil i I AREEEEE N -IRSEEE 4.°.00" 7
.DD ..‘C} CFSEEEEEE I EEEEEEEEE B EEEEEEEEE N EEEEEREEE NN
. S
3
ry'| ry|
o L]
r .
- L1 ] Y [ ]
...... oy | Boesd ".QOO"" RN T B | ——aa® (')"O'C'JO”. ‘.",}”'”C)(')Q-
o] o) alo] o O n 06 L0
CV-1 = s O..-..O.QGOOO  Eelopacry il g SR (o] - Qo [ e - = =7
004700 Slallfo)
o 2=
LI'I'I'I'I'I'I'I'I TTITTTTTTIT TTITTTTITIT TITTITITIT TTITETITITT TTITITITITT TTITITTITT TTITTITITO0

4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100

OP(0.5)Q=0.25 OP(1)Q=025 OP2)Q=0.25 OP(5)Q=025 OP(10)Q=0.25 OP({20)Q=0.25 OP(50)Q=0.25 OP(100)Q=0.25

[YY'| FYYY'| FYYY'| FYYYY'| ' s  Ogiil] [TEXITIETR FITATLTDI
[ ]
[ [
& L O' ey -
CV-5 - (%] Q 5 Il
e | T TRERREE SEAREREEE! «FSREERE| By RESEEEERE Jy (REREEREER By BERREEEEE!
. [ 4
® |
rv I FYvy'| ryyy'| Py | Yy yry vy B v YYYYYY B R Sy YYYYY '
. . . 1 .
L
=] o] 55
C\V-4 Fatolol Q5 & 5 Us Sl 10
o =} ]
FERREEE - ot L. 43 |}
L] i
L .. | ]
r | Fyy| ryy'| [ | _—r-m. [ " yyYYYYyy'| —rmrn" EBEEEYYYIYY |
¢ H . (3L L)
[ 1) at - [ ]
[=]
[V EERELEERE i & | P -+ oo | HEH e _ Al =R .
9 o 0%aq
.. ...... s - B i il INEEE ) SEEEEEEEE ) SEEETEEES ) SEEEEEEEE ) S SR
- |
| 1]
y | P ryv| ry'| BE .1amuﬂ :rrrrmn FYYVYY'| FYYYY |
]
]
. (] 0% L 7Y
00 [=] O me 9] 9
CV-2 - O g T [ BESEP-SSEE N SEhELL oQC_ .......... i SRR S -
DO i & Oo @
- - go—A 1t F——
] . °
ee * o
r | ry | | IYYYYY'| FYYVYYY'| rYyvy'| .Aﬂ
. ol P b o .
> o °
EEEEENE By EEEEEE a1 '...C}C}Q"- .......... e = e | P O IREE
o) Fodo i
CW-1 = I bos 6 : - o - -
fole] fe¥e} 6009
. )
a® . o®
e ]

rrrrrersy rmrrrrrsmi rrrrrreryy Trrrrrenen rrrrrrrrmyty rrrrrrrnrnn rrrrrrrema rrrrrerryny
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100

Replication Replication Replication Replication Replication Replication Replication Replication

56



Appendix 1 M3: Coverage of SQ interval for Overdispersed Poisson
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Appendix 1 M4: Coverage of SQ interval for Overdispersed Poisson
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Appendix 1 M5: Coverage of OP interval for Overdispersed Poisson
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Appendix 1 M6: Coverage of OP interval for Overdispersed Poisson

OP(0.5) Q=0.50 OP(1) Q=050 OP(2)Q=0.50 OP(5)Q=0.50 OP(10)Q=0.50 OP({20)Q=0.50 OP{50)Q=0.50 OP(100)Q=0.50
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Appendix 1 M7: Coverage of NB interval for Overdispersed Poisson

OP(0.5) Q=1.00 OP(1)Q=1.00 OP(2)Q=1.00 OP(5)Q=1.00 OP(10)Q=1.00 OP({20)Q=1.00 OP{50)Q=1.00 OP(100)Q=1.00
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Appendix 1 M8: Coverage of NB interval for Overdispersed Poisson

OP(0.5) Q=0.50 OP(1) Q=050 OP(2)Q=0.50 OP(5)Q=0.50 OP(10)Q=0.50 OP({20)Q=0.50 OP{50)Q=0.50 OP(100)Q=0.50
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Appendix 1 M9: Coverage of P1 interval for Overdispersed Poisson

OP(0.5) Q=1.00 OP(1)Q=1.00 OP(2)Q=1.00 OP(5)Q=1.00 OP(10)Q=1.00 OP({20)Q=1.00 OP{50)Q=1.00 OP(100)Q=1.00
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Appendix 1 M10: Coverage of P1 interval for Overdispersed Poisson
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Appendix 1 M11: Coverage of GM interval for Overdispersed Poisson

OP(0.5) Q=1.00 OP(1)Q=1.00 OP(2)Q=1.00 OP(5)Q=1.00 OP(10)Q=1.00 OP({20)Q=1.00 OP{50)Q=1.00 OP(100)Q=1.00
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Appendix 1 M12: Coverage of GM interval for Overdispersed Poisson

OP(0.5) Q=0.50 OP(1) Q=050 OP(2)Q=0.50 OP(5)Q=0.50 OP(10}Q=0.50

OP(20) Q=0.50 OP(50) Q=0.50 OP{100) Q=0.50
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Appendix 1 N1: Coverage of LN interval for Negative Binomial
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Appendix 1 N2: Coverage of LN interval for Negative Binomial
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Appendix 1 N3: Coverage of SQ interval for Negative Binomial
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Appendix 1 N4: Coverage of SQ interval for Negative Binomial
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Appendix 1 N5: Coverage of OP interval for Negative Binomial
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Appendix 1 N6: Coverage of OP interval for Negative Binomial
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Appendix 1 N7: Coverage of NB interval for Negative Binomial
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Appendix 1 N8: Coverage of NB interval for Negative Binomial
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Appendix 1 N9: Coverage of P1 interval for Negative Binomial
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Appendix 1 N10: Coverage of P1 interval for Negative Binomial
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Appendix 1 N11: Coverage of GM interval for Negative Binomial
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Appendix 1 N12: Coverage of GM interval for Negative Binomial
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Appendix 1 O1: Coverage of LN interval for Poisson-LogNormal
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Appendix 1 O2: Coverage of LN interval for Poisson-LogNormal
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Appendix 1 O3: Coverage of SQ interval for Poisson-LogNormal
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Appendix 1 O4: Coverage of SQ interval for Poisson-LogNormal
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Appendix 1 O5: Coverage of OP interval for Poisson-LogNormal
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Appendix 1 O6: Coverage of OP interval for Poisson-LogNormal
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Appendix 1 O7: Coverage of NB interval for Poisson-LogNormal
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Appendix 1 O8: Coverage of NB interval for Poisson-LogNormal
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Appendix 1 O9: Coverage of P1 interval for Poisson-LogNormal
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Appendix 1 O10: Coverage of P1 interval for Poisson-LogNormal
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Appendix 1 O11: Coverage of GM interval for Poisson-LogNormal
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Appendix 1 O12: Coverage of GM interval for Poisson-LogNormal
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Appendix 1 P1: Coverage of LN interval for Power(1.5)
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Appendix 1 P2: Coverage of LN interval for Power(1.5)
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Appendix 1 P3: Coverage of SQ interval for Power(1.5)
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Appendix 1 P4: Coverage of SQ interval for Power(1.5)
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Appendix 1 P5: Coverage of OP interval for Power(1.5)
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Appendix 1 P6: Coverage of OP interval for Power(1.5)
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Appendix 1 P7: Coverage of NB interval for Power(1.5)
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Appendix 1 P8: Coverage of NB interval for Power(1.5)
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Appendix 1 P9: Coverage of P1 interval for Power(1.5)
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Appendix 1 P10: Coverage of P1 interval for Power(1.5)
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Appendix 1 P11: Coverage of GM interval for Power(1.5)
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Appendix 1 P12: Coverage of GM interval for Power(1.5)
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Appendix 1 Q1: Power of LN & Lyles difference test for Overdispersed Poisson
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Appendix 1 Q2: Power of SQ & Lyles difference test for Overdispersed Poisson
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Appendix 1 Q3: Power of OP & Lyles difference test for Overdispersed Poisson
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Appendix 1 Q4: Power of NB & Lyles difference test for Overdispersed Poisson
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Appendix 1 Q5: Power of P1 & Lyles difference test for Overdispersed Poisson
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Appendix 1 R1: Power of LN & Lyles difference test for Negative Binomial
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Appendix 1 R2: Power of SQ & Lyles difference test for Negative Binomial
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Appendix 1 R3: Power of OP & Lyles difference test for Negative Binomial
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Appendix 1 R4: Power of NB & Lyles difference test for Negative Binomial
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Appendix 1 R5: Power of P1 & Lyles difference test for Negative Binomial
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Appendix 1 S1: Power of LN & Lyles difference test for Poisson-LogNormal
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Appendix 1 S2: Power of SQ & Lyles difference test for Poisson-LogNormal
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Appendix 1 S3: Power of OP & Lyles difference test for Poisson-LogNormal
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Appendix 1 S4: Power of NB & Lyles difference test for Poisson-LogNormal
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Appendix 1 S5: Power of P1 & Lyles difference test for Poisson-LogNormal
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Appendix 1 T1: Power of LN & Lyles difference test for Power(1.5)
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Appendix 1 T2: Power of SQ & Lyles difference test for Power(1.5)
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Appendix 1 T3: Power of OP & Lyles difference test for Power(1.5)

P1(0.5)-OP P1(1.0)-OP P1(2.0)-OP P1(5.0)- 0P P1(10.0)-OP P1(20)-0OF P1(50)-0CP P1(100)-OP

CV-5 =

CV-4 <

CV-3 -

CV-2 <

CV-1 =

rrrrrrema Trrrrrrrnms mrrrrrm mrrrrrrey mmrrerrerma rrrrreenmn reererns mrrrrrrnm
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100

Replication Replication Replication Replication Replication Replication Replication Replication

120



Appendix 1 T4: Power of NB & Lyles difference test for Power(1.5)
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Appendix 1 T5: Power of P1 & Lyles difference test for Power(1.5)
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Appendix 2 A1: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.75
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Appendix 2 A2: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.75
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Appendix 2 A3: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.75
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Appendix 2 A4: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.75
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Appendix 2 AS5: Size of equivalence test for Overdispersed Poisson; LOC=Q=0.5
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Appendix 2 A6: Size of equivalence test for Overdispersed Poisson; LOC=Q=0.5
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Appendix 2 A7: Size of equivalence test for Overdispersed Poisson; LOC=Q=0.5
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Appendix 2 A8: Size of equivalence test for Overdispersed Poisson; LOC=Q =0.5
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Appendix 2 A9:

Size of equivalence test for Overdispersed Poisson; LOC=Q =0.25

OP(0.5)-LN  OP{0.5)-SQ OP(0.5)-OP OP(0.5)-NB  OP(0.5)-P1 OP(0.5)-P2 OP{0.5)- GM
[A4444422d EEIZIZ2Z2113
. ie? o’ oe?®
[&] o fo] 00 *
CV=500 - o o =
- — .;._o. 73488 T3 488
. ls "
a®0e «*® |
Y YYYYYY ' B Y IYYYYYYY'
. H .... ee’? ic..
CV=400 i 2% 29 o) i o) i ¢ °d
9% 5% 0 [ -3 LS |
. o ° . 4
i .. le le *
Leiddidl WIXZIZIZZLLi]
L ]
e . ® . ® d ..®
CV=300 . i0iTe %60 sitited Biigivide] Hiithi i%eY
= -C.)O -1 00. ] ,O‘? . ] EX ] ,G, 5
i e ;.. i ... ... 3
I!. o ®
FYYY' I 'YYYYYYYYY'|
[ ]
cv=200 4% | 600% J L 9%0g | 409% ) ] 00000, 0000, |
o @ o9 B IFRSEREE AN
.u .. o o o
ry B Y YYYYYYYY'|
o?
. L] . 0 .
R RS e
cv=150-.0‘?oc. 4 F’Dg?’oo 11 %% o - -2FLLIRK Oog%o 5 0%6 o
. . . H . . .
. » » » »
TITITTTITIT TITTITTIIIT TTITTITTTTTIT TTITTTTITITIIT TOTTITIITT TITTTTRITIT TITTTTTITTT
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
OP(1)- LN OP({1) - SQ OP{1)- OP OP(1) - NB OP(1} - P1 OP(1) - P2 OP(1) - GM
Y Y Y Y YYYYYT' I YYYYYYYYY o Te ie R [y R
L
* of LAY} Toiig %o .
CV=500 IR @
-3 itiigriol Io% 070 9°9?
e .
... | | ] |
et X 1 | ]
Y YYYYYY ' B Y IYYYYYYY'
L] ISy ot o?%
oY o E o E o E Y of
CV=400 — YL . E o % o @
- L s o o .O .
- o® B J
% .
rYYYYYY' B Y YYIYYYLY
L] . ®
- & % C}U. . % OD‘ .OO O. .OO
CV=300 £ - C.)o. o~ . . Pon C’_O : O-o-o ] ) o -
. YR gl rer em o - it
. .
e o
IYYYY' I ' YYYYYYYYY'
®s . . * s ® e *
o or o
CV:2QQ_6.?. - O.Q.?Oo. Jiiiairevil Lioi? 92 g Niioi0i9e:i¢ o 9.0060
: e R Lo : Lo ‘D
e o
rEY Y B Y Y Y YYYYYY'|
L Ly
ey O"D. (mEEl K o =" 'D.‘ et
CV:‘|5[}-0¢| - Q0 [ BN o4 90 _ o070 DOOD
9 Lot — o e 00 SO a MR %o
TITITTTITIT TITTITTIIIT TOITTITTITTIT TITTTTITIIT TETTITITTT TITTTTIITIT TITTTTTITTN
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
Replication Replication Replication Replication Replication Replication Replication

131



Appendix 2 A10: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.25
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Appendix 2 A11: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.25
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Appendix 2 A12: Size of equivalence test for Overdispersed Poisson; LOC =Q =0.25
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Appendix 2 B1: Size of equivalence test for Negative Binomial, LOC = Q =0.75
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Appendix 2 B2: Size of equivalence test for Negative Binomial, LOC = Q =0.75
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Appendix 2 B3: Size of equivalence test for Negative Binomial, LOC = Q =0.75
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Appendix 2 B4: Size of equivalence test for Negative Binomial; LOC =Q =0.75
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Appendix 2 BS5: Size of equivalence test for Negative Binomial; LOC =Q =0.5
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Appendix 2 B6: Size of equivalence test for Negative Binomial; LOC =Q =0.5
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Appendix 2 B7: Size of equivalence test for Negative Binomial; LOC =Q =0.5
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Appendix 2 B8: Size of equivalence test for Negative Binomial; LOC=Q =0.5
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Appendix 2 B9: Size of equivalence test for Negative Binomial, LOC = Q =0.25
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Appendix 2 B10: Size of equivalence test for Negative Binomial; LOC = Q =0.25
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Appendix 2 B11: Size of equivalence test for Negative Binomial, LOC =Q =0.25
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Appendix 2 B12: Size of equivalence test for Negative Binomial; LOC = Q = 0.25
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Appendix 2 C1: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.75
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Appendix 2 C2: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.75
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Appendix 2 C3: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.75
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Appendix 2 C4: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.75
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Appendix 2 C5: Size of equivalence test for Poisson-LogNormal; LOC=Q=0.5
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Appendix 2 C6: Size of equivalence test for Poisson-LogNormal; LOC=Q =0.5
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Appendix 2 C7: Size of equivalence test for Poisson-LogNormal; LOC=Q =0.5
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Appendix 2 C8: Size of equivalence test for Poisson-LogNormal; LOC=Q =0.5
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Appendix 2 C9: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.25
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Appendix 2 C10: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.25
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Appendix 2 C11: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.25
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Appendix 2 C12: Size of equivalence test for Poisson-LogNormal; LOC =Q =0.25
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Appendix 2 D1: Size of equivalence test for Power(1.5); LOC =Q =0.75
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Appendix 2 D2: Size of equivalence test for Power(1.5);

LOC=Q=0.75
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Appendix 2 D3: Size of equivalence test for Power(1.5); LOC=Q =0.75
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Appendix 2 D4: Size of equivalence test for Power(1.5); LOC =Q =0.75
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Appendix 2 D5: Size of equivalence test for Power(1.5); LOC=Q=0.5
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Appendix 2 D6: Size of equivalence test for Power(1.5); LOC=Q=0.5
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Appendix 2 D7: Size of equivalence test for Power(1.5); LOC=Q=0.5
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Appendix 2 D8: Size of equivalence test for Power(1.5); LOC=Q=0.5
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Appendix 2 D9: Size of equivalence test for Power(1.5);

LOC=Q=0.25
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Appendix 2 D11: Size of equivalence test for Power(1.5); LOC =Q =0.25
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Appendix 2 E1: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 1
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Appendix 2 E2: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 1
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Appendix 2 E3: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 1
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Appendix 2 E4: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 1
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Appendix 2 E5: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.75
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Appendix 2 EB6: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.75
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Appendix 2 E7: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.75
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Appendix 2 E8: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.75
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Appendix 2 E9: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.5
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Appendix 2 E10: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.5
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Appendix 2 E11: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.5
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Appendix 2 E12: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.5
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Appendix 2 E13: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.25
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Appendix 2 E14: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.25
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Appendix 2 E15: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.25
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Appendix 2 E16: Power of equivalence test for Overdispersed Poisson; LOC=0.5; Q = 0.25
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Appendix 2 F1: Power of equivalence test for Negative Binomial, LOC=0.5; Q = 1
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Appendix 2 F2: Power of equivalence test for Negative Binomial, LOC=0.5; Q = 1
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Appendix 2 F3: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 1
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Appendix 2 F4: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 1
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Appendix 2 F5: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.75
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Appendix 2 F6: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.75
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Appendix 2 F7: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.75
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Appendix 2 F8: Power of equivalence test for Negative Binomial; LOC=0.5; Q =0.75
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Appendix 2 F9: Power of equivalence test for Negative Binomial; LOC=0.5; Q =0.5
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Appendix 2 F10: Power of equivalence test for Negative Binomial; LOC=0.5; Q=0.5
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Appendix 2 F11: Power of equivalence test for Negative Binomial;, LOC=0.5; Q=0.5
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Appendix 2 F12: Power of equivalence test for Negative Binomial; LOC=0.5; Q =0.5
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Appendix 2 F13: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.25
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Appendix 2 F14: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.25
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Appendix 2 F15: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.25

NB(10)-LN  NB(10)-SQ NB(10)-OP  NB(10)-NB  NB(10)-P1  NB(10)-P2  NB(10)- GM
V=00 i k] i BEESEEEEE N SESEESEEE N EEEEEEEEE -
s e b, P b Seus SOuNS
1\“‘-‘\_ :‘\‘\_‘\_ ,_Kt‘\o-(._ e . | - o
CV=150
Poe, ) Bt .""5{.__ ........... b, 'SEEEEN e
\'j \'j . ‘:‘\“‘—m._ -"‘11._. %1._ - k'“'—m._.
CV=100
b s 1A kA kA
e b Dbee, | Teegy Dtee, Pbee, | ey
CV=75
e e e ey Peos ey ey faei g
CV=50
P P P e P = o
1™ ™Y T T 1T T T
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
NB(20)-LN  NB(20)-SQ NB(20)-OP  NB(20)-NB  NB(20)-P1  NB(20)-P2  NB(20)- GM
V=150 it - A X :: ‘A k ] i BEESEEEEE N SEEEESEEE N BEEEEEEEE 4
b b
- - -
k‘] \‘] ‘\.-.\‘“0-._ e l:-"“ﬂ-.u l:-.\'-o-._ -‘\"\'. —ta
Cv=100
\1\"-._.__ \l"-o____ '\""t-___ l\"*kl “"-mu ""'M-_L ""'1_-_‘
CV=75
Pis Pis . bo . e, e - ey
CV=50
CV=40
TTTTTTTY TTTTTTTY TTTTTTTTY T TTTTTTT TTTTTTTT TTTTTTTT TTTTTTTT
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100

Replication

Replication

Replication

Replication

201

Replication

Replication

Replication



Appendix 2 F16: Power of equivalence test for Negative Binomial; LOC=0.5; Q = 0.25

NB(50) - LN NB(50)-SQ  NB(50) - OP NB(50) - NB NB(50) - P1 NB(50) - P2 NB(50) - GM
CV=75 - —— I N N - i RN N IR IR PN SRR N R N
-a a0 b s T e i =

CV=50
| 59 | -5 | SN | .

CV=40

Cv=30

Cv=20
Errrrrera Errrrrera Errrrrera Errrrrnra rrrrrernmta Trrrrnernmta Trrrrnernmta
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
NB(100)-LN  NB(100)-SQ NB(100)-OP NB(100)-NB  NB(100)-P1  NB(100)-P2 NB(100)- GM

CV=50 o -, ] - -, el L
| . | .

CV=40

Cv=30

CVv=20

Cv=15
Errrrrera Errrrrera ErIrrrrera ErrrrrnrTma rrrrrernmta rrrrrnernmta Trrrrernmta
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
Replication Replication Replication Replication Replication Replication Replication

202



Appendix 2 G1: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 1
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Appendix 2 G2: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 1
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Appendix 2 G3: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 1
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Appendix 2 G4: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q =1
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Appendix 2 G5: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.75

CV=500

CV=400

Cv=300

Cv=200

Cv=150

CV=500

CV=400

Cv=300

Cv=200

Cv=150

PL(0.5) - LN

PL(0.5) - SQ

PL(0.5) - OP

PL(0.5) - NB

PL(0.5)-P1

PL(0.5)-P2

PL(0.5) - GM

R

N

4 10 30 100 4

PL(1)-LN

N

PL(1)-35Q

10 30 100 4

A

L

PL(1)-OP

10 30 100 4

PL(1)-NB

10 30 100 4

R

PL(1)-P1

10 30 100 4

AR TR

PL(1)-P2

DT

10 30 100 4 10 30 100

PL(1) - GM

SRR
SRR

3

|

4 10 30 100 4

Replication

Replication

LELER

10 30 100 4

Replication

LEEER

10 30 100 4

Replication

207

LELEE

10 30 100 4

Replication

LEEET

10 30 100 4

Replication

LR

10 30 100 4 10 30 100

Replication




Appendix 2 G6: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.75
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Appendix 2 G7: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.75
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Appendix 2 G8: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.75
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Appendix 2 G9: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q =0.5
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Appendix 2 G10: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.5
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Appendix 2 G11: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q =0.5
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Appendix 2 G12: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.5
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Appendix 2 G13: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q =0.25
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Appendix 2 G14: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q =0.25
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Appendix 2 G15: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.25
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Appendix 2 G16: Power of equivalence test for Poisson-LogNormal; LOC=0.5; Q = 0.25
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Appendix 2 H1: Power of equivalence test for Power(1.5); LOC=0.5; Q = 1
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Appendix 2 H2: Power of equivalence test for Power(1.5); LOC=0.5; Q = 1
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Appendix 2 H3: Power of equivalence test for Power(1.5); LOC=0.5; Q = 1
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Appendix 2 H4: Power of equivalence test for Power(1.5); LOC=0.5; Q = 1
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Appendix 2 H5: Power of equivalence test for Power(1.5); LOC=0.5; Q =0.75
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Appendix 2 H6: Power of equivalence test for Power(1.5); LOC=0.5; Q =0.75
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Appendix 2 H7: Power of equivalence test for Power(1.5); LOC=0.5; Q =0.75
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Appendix 2 H8: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.75
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Appendix 2 H9: Power of equivalence test for Power(1.5); LOC=0.5; Q=0.5
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Appendix 2 H10: Power of equivalence test for Power(1.5); LOC=0.5; Q =0.5
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Appendix 2 H11: Power of equivalence test for Power(1.5); LOC=0.5; Q =0.5
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Appendix 2 H12: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.5
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Appendix 2 H13: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.25
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Appendix 2 H14: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.25
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Appendix 2 H15: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.25
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Appendix 2 H16: Power of equivalence test for Power(1.5); LOC=0.5; Q = 0.25
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Appendix 2 11: Power of OP & Lyles equivalence test for Overdispersed Poisson; Q=1
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Appendix 2 12: Power of OP & Lyles equivalence test for Overdispersed Poisson; Q=0.75
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Appendix 2 13: Power of OP & Lyles equivalence test for Overdispersed Poisson; Q=0.5
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Appendix 2 14: Power of OP & Lyles equivalence test for Overdispersed Poisson; Q=0.25
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Appendix 2 J1: Power of OP & Lyles equivalence test for Negative Binomial; Q=1
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Appendix 2 J2: Power of OP & Lyles equivalence test for Negative Binomial; Q=0.75
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Appendix 2 J3: Power of OP & Lyles equivalence test for Negative Binomial; Q=0.5

NB(0.5) - OP

NB(1) - OP

NB(2) - OP

NB(5) - OP

NB(10)- OP NB(20)-OP NB(50)-OP NB(100)- OP

CV-5 =

CV-4 <

e2osge 00

i
. .//‘ o
[eeatd .:oou t_!_u.u'oh
i
/
- q}"‘l

e ®Bos gyt

e e

CV-3 -

CV-2 <

il

il

]
d:l

5

4 10 30 100 4 10 30 100

Replication

e ..7/
..7 /
i"_'.'!n!lol" p2e0s000e| [00005000sy [00000sesve [P00eey00ey
v / f.- /’p g f’ ’.-
L] ."f
Z o ‘)‘ ?/‘ i
,"'l ‘f. f
7)‘ '/ - -
/ s
of 7
E”!uulu-o 00%0,0,004 lstossssse loaese, o ;-‘O"ﬂ‘- 008200ty
ki "L RSN 44 By " 2 e -
4 [ 1
. ! J‘ I
/ / ? J
? /
- ‘ ‘l - -
/ o
y
.; /
o
29,00, snfengt o Potlagyangy 240qe0%,0 FYPY Y SS¥ 1 2s09%%0ete |sotesest
'ﬁr'.I'I'I'I'ITT; TIIIIIII: mrrrrreet :ITIIIIII: TIIIIIIII: Tllnlllll IITIIIIII:
4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100
Replication Replication Replication Replication Replication Replication Replication

241



Appendix 2 J4: Power of OP & Lyles equivalence test for Negative Binomial; Q=0.25
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Appendix 2 K1: Power of OP & Lyles equivalence test for Poisson-LogNormal; Q=1
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Appendix 2 K2: Power of OP & Lyles equivalence test for Poisson-LogNormal; Q=0.75
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Appendix 2 K3: Power of OP & Lyles equivalence test for Poisson-LogNormal; Q=0.5

CV-5 =

CV-4 <

CV-3 -

CV-2 <

CV-1 =

PL{(0.5)-OP PL(1)-0OP PL(2) - OP PL(5)-OP PL(10)-0OP PL(20)-0OP PL(50)-0OP PL(100)-0OP
L] r 3 y w
A
el
J !
o/ .I;'
L g i
7
;!
FYLLIYY PO "PYY FEY Y Vo
- 3 = '..-
b #
1 ]
4 ¢
q‘ll
!
'_";h:‘L'-?- 0090205505 logetestigg |e000 08,04
f A A
/ f / ’/ o
s ‘.'
II. s fIn’ I."I ‘II
of
] ° L
i / L7 1Y
L S {
o., '/ ../
'..,'/ = t/ .-’I
"!’._;'!imo'l pC0000gg0y [%0005440 [*29,000000 [00,0000049
v = LJ [ ] s - =
; f / )4 ;f.
o
[} ! ?
17 (44 g
oY/ o/
L /.
/
{,_-_g.;..,. hosnssonty [99000,45454,9 [00s0%0000e] |2000essee] [00s20cb000]
[ 3 ] i v r ) : |3
y Piiif #
‘ [ / ./ */i
i ¢ ? *
- -J -
| ; L]
., L% ..-'l/
o/ ./ .f{
, o/
o o
o . e tgretyl PPy T L PV [FYLLY Pwe 29%65 4,09 s280g000e [Passstees 0 o9%s 00008 leosgteete
l?:lllllll :IIIIIIII. :lllllllll ::IIIIIIII IIIIIIIII: TTITITTITTT 'IT.I'ITITIT?
4 10 30 100 4 10 30 100 4 40 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 10 30 100 4 40 30 100
Replication Replication Replication Replication Replication Replication Replication Replication

245



Appendix 2 K4: Power of OP & Lyles equivalence test for Poisson-LogNormal; Q=0.25
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Appendix 2 L1: Power of OP & Lyles equivalence test for Power(1.5); Q=1
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Appendix 2 L2: Power of OP & Lyles equivalence test for Power(1.5); Q=0.75
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Appendix 2 L3: Power of OP & Lyles equivalence test for Power(1.5); Q=0.5
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Appendix 2 L4: Power of OP & Lyles equivalence test for Power(1.5); Q=0.25
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